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Instructions - Attempt all questions.
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Use diagrams or flow diagrams if it is necessary.

(i) WV HI® 23 | 26 9% & yyHi 3rafts famey fou o #
In Question Nos. 23 to 26, internal Options are given.

() IW Y § yv1 77 T quy g@ 9e9 wuie fafa
Write correct Question No. in your answer copy while solving
the question.
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Write the answer of the question paper as instructed.
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Imstruction : (A)  Question Nos. I to S are very short answer type questions. Each
question carries | mark. (Maximum word-limit of answer is

| word / | sentence)

W31 CDRI %1 901 9m fafay | (1]

Write the full name of CDR1.

W2 fEm e a3 aE fen e ow s el Fammoen #2 (1]

Which gas 1s the cause of large whole created in Swiss Cheese?

U 3 e &1 IwEfa fam dm g B 20 (1]
Humulin 1s useful in which disease?

-4 w@-wm e fafy @ oge e s d (1]

What is the main purpose of In-situ conservation method ?

wA-5  §-amfe # wd vw | fafan (1]

Write any one source of e-waste.

frdor : () W FEE 6 /10 7% AYIEE WA ¥ | T F wvs W 2 3w wmafea €
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Instruction : (B) Question Nos. 6 to 10 are short answer type questions. Each

question carries 2 marks. (Maximum word-himit of answ

30 words)

[1+1=2]
W6 @-qem ¥ WY R ey fafag

Write any two advantages of Self-pollination.
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TGS S fersrgrsh 3 @ @ st ferfay [1+1=2]

Write any two differences between Homozygous and Heterozygous

YRR o o)

Explain the Polyploidy.

F @ | [1+1=2]

Write two functions of interferon.

ﬁm%@aﬁmwwm#ﬁéamwf [1+1=2]

Write any two importances of genetic engineering in medical field.
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Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

W 1-11

W -12

w-13

question carries 3 marks. (Maximum word-limit of answer is

50 words)

TR & fa3 99 #1319 JmiEa wifag [1Ya+1%4=3]

Draw a diagram of pollen grain and label any three.

TOR gure o asfEA B I 34 F 3 wfgensdi w1 faqn s €1 =wwy
fi @g =i wet e B (3]

In our society, the women are often blamed for giving birth to

daughters. Explain why this is not correct.

o - T® AT F 20% @EiFE E, dt ey ¥ frer s gt

¥ wirea W #) o & (3]
A double-stranded DNA has 20% adenine, calculate the percentage

of cytosine in the DNA.
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DNA fg-mm 3 wefua spawaes d Tes % 9 ud wr fofy

f1=3=3]
Wnite the names and functions of three essential enzy res - lated 10
DNA duplication.
W -fafmg % #7 d1 we farfan [123-3]
Wnite any three significances of crossing-over.
qEE YW & 13 19 gifHETaE yara & an o fafan [173=3]
Write any three harmful effects of tobacco smoking.
T ganetl & @A & 9R | gidm auiR wifag (3]
Describe briefly the risks of sedative medicines (drugs).
HETE Gl 1 ¢ ? 36& feml Q) onurd F an | fafan) [142=3]
What is organic agriculture ? Write its any two basics.
A2 s ol Gfas qUA HIfAY | [1%+1Y2=3]

Describe nitrogen cycle with diagram.

W T = & 7 yaad & fRT 9 ugta 3ol @ e witsen (114 1=3)

What is National Park ? Describe any two national parks of India.

@ v i & wé &= 3 fafag) [1x3=3]

Write any three measures of water pollution control.

TrrETeE SIS T U g et fofe 3]

Write a short note on Greenhouse Effcct.
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Instruction : (D) Question No. 23 15 long answer type question Thi
JE=k) S QU

5]

: (7 39 T -
‘ FHTH 23 HhiIeit VTR IR W s s wmifen ) (T W
whvrrTg v u’rq-y;-;mtj

Son carmes

4 marks (M; :
narks (Maximum word-hmt of answer1s 75 words)

30 W v
gyw-23 S fafam =n 2 %Wﬁﬁtf\l}.\m‘rwﬁm’:&n

o

What is Gene Therapy ? Describe 1t giving cxample of lack of

adenosine deaminase (ADA).
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What is Recombinant DNA Technology ? Describe 11s three steps
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Instruction : (E) Question Nos. 24 to 26 are long answ er type questions. Each question

carries 5 marks. (Maximum word-limit of answer 1s /50 words)

WH-24 alzEd UE fFs & Bl Aisd #i w0 # wfan i wifag [2+1+2=5)

Describe Watson and Crick DNA model with diagram.

Haqr
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What is Lac Operon ? Describe with diagram about the structure ot

regulator gene and structural gene.
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(H) HAM
(o) @&
(¥) 3Iv=ER
Describe about the Filaniasis Disease on the following points :
(a) Causes
(b)  Symptoms
(¢)  Treatment
Hdqr
OR

wERfeufas Im % A ° fag fagsi w At Fifs
(31) &RY
(|d) <&
(9) 3IT=R
Describe about the Ascariasis Disease on the following points :
(a) Causes
(b) Symptoms
(c) Treatment
UYA-26 Y9 I dF F AHIGRG @ T T wmi F uw-uw e e
fafay : [2+3=5]
() Wz Uy
(@) sfugem
(V) PHdes

Draw a labelled sketch of male reproductive system and write one
main function of the following parts :

(a) Prostate gland

(b) Epididymis

(c) Vas deferens
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(AN) avgafe

(@) weerll (wer)

(|) 3vErH

Draw a labelled sketch of female reproductive system and write one
main function of the following parts :

(a) Fallopian tube

(b) Fimbnae

(¢) Ovary




